Year 5 Week 2 Lesson 1 Subtraction using 4 digits

Answers
RED

357-324=33
1966 — 1945 =21
2920-2710=10
8989 -7878 = 1111
6756 — 1255 = 5501
8769 —1432 = 7337
1210-1207 =3
2463 — 1448 = 1015
3456 — 1249 = 2207
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1210-1207=3
2463 — 1448 = 1015
3456 — 1249 = 2207
5400 - 4500 =900
6455 -6327 =128
7676 — 6745 =931
4678 —3587 = 1091
9289 — 8865 =424
6784 -5873 =911
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Green

1. 4678 —3587 =1091
2. 9289 —-8865 =424
6784 —5873 =911
7777 —-6924 = 853
4938 —4297 =641
7865-6749=1116
5876 — 4967 =909
3010-1209 = 1801
6267 —-4538=1729
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